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SN BHEYHI
M AYSD MYHUS NABBTY
SRS LR BEEY (S &2)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SHEFMY 35,433,516 33,058,394 2,375,122
= 25,392,251
X 2,864,000
< 7,177,265
Aoty MIFHAJY= NAHSI XY 8,990,680 9,898,240 A 907,560
= 3,306,000
X 2,864,000
< 2,820,680
Jdglsssdlietx 2,019,350 2,473,350 A 454,000
= 1,676,000
< 343,350
HeEsdusz2 QS X& 42,850 42,850 0
= 30,000
< 12,850
307 21201 A 42,850 42,850 0
= 30,000
< 12,850
02 It S AHE L 42,850 42,850 0
OMgezdusoz2 18X 42,850
= 30,000
< 12,850
HESEXNEBINSEAN ZEAY 1,546,000 2,000,000 A 454,000
= 1,546,000
403 XSS A0l & 1,546,000 2,000,000 A 454,000
= 1,546,000
01 XM A=2E X 1,546,000 2,000,000 A 454,000
OTEFXNBIsEAN ZEAEY 1,546,000
= 1,546,000
EE2ZI21gLds N2 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 HIAFAAFEX 200,000 200,000 0
OCEZYE21g 483X & 200,000
SMAMRXAHE X2 ALY 200,000 200,000 0
= 100,000
< 100,000
307 21201 A 200,000 0 200,000
= 100,000
< 100,000
05 BIZERI & 3 200,000 0 200,000
OSMAMXNZLHE 2 S A 200,000
= 100,000
< 100,000
SIZHAS XA 30,500 30,500 0
201 Zet24E] 24,500 24,500 0




R
2ol dEHJUE JHEaadxd
Jessgdlgxy (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 24,500 24,500 0
Oget=&H| 24,500
-t &= 24,500
203 R =&t 6,000 6,000 0
03 AIMFXH R =AY 6,000 6,000 0
OsFFHNLALEZ 3,000
OSZZHASZIEZANLS dRFA 3,000
NASHEH0IEAE 5,823,000 6,305,000 A 482,000
= 1,200,000
Xl 2,864,000
< 1,759,000
MEHBHE S A 3,723,000 5,330,000 ~1,607,000
Xl 2,864,000
< 859,000
403 MHXSHHSA=0l& 3,723,000 5,330,000 A 1,607,000
Xl 2,864,000
< 859,000
01 HXESHMA=E X 3,723,000 5,330,000 A 1,607,000
Oulst B2 4 MEH 1,513,000
Xl 1,164,000
< 349,000
OsE dgM=X 325,000
X 250,000
< 75,000
OHer =21 MEH 1,885,000
Xl 1,450,000
< 435,000
BEs2 A 1,800,000 975,000 825,000
2 1,200,000
< 600,000
403 MHtXISHHS A= 0l& 1,800,000 975,000 825,000
= 1,200,000
= 600,000
01 XM A=2EE 1,800,000 975,000 825,000
Ot dMHEZZ ZdAY 1,350,000
= 900,000
< 450,000
O M& dHEg2=z2 ZdAY 450,000
= 300,000
< 150,000
clat egh2d A (O 300,000 0 300,000
403 X SHHSA=0l& 300,000 0 300,000
01 HXSHMA2E X 300,000 0 300,000
O=elst g = 300,000




SN BZFYY
M AYSD MYHUS NABBTY
ool RS AYME N R H CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ANASHAUMEHEA 64,980 109,040 AN 44,060
=22 HHMAAEZAEX AU A 25,000 0 25,000
403 XX SHHS K201 & 25,000 0 25,000
01 "X S X2 2 = 25,000 0 25,000
O2¢ HWMAHAEZAEX HUlALE 25,000
ANHEsHESA 36,980 104,040 AN 67,060
201 gEt24Hy| 35,080 102, 140 A 67,060
01 AL 2tel | 840 840 0
On=ul 840
- RS NEHERH 140,000 »6H 840
02 Z2=2=24%4| 34,240 101,300 A 67,060
OZ2Z2Q22 N A 5,240
-2 M3l 2,500,000& 2= 5,000
-&Jea 20,000& x12& 240
OA& Z&H KXY 3,000
—-sdEE2eS KX 3,000
OXtgrd gd] 26,000
- HdESFH S 13,000, 000 2= 26,000
202 04 d| 1,900 1,900 0
01 2Ll 1,900 1,900 0
OXHESAH 29 (ol 1,900
NS =203 &4 3,000 3,000 0
307 QI2t0| ™ 3,000 3,000 0
04 CIZ2tSH ALALS B X 3,000 3,000 0
ONHESIE d=2MU3g =AM 3,000
OMESAEES YL 1,083,350 1,010,850 72,500
= 430,000
= 653,350
Or2H = 2 11| o Ol &+ AF 364,000 364,000 0
= 280,000
= 84,000
403 XX SHHS K201 & 364,000 364,000 0
= 280,000
o= 84,000
01 XIS AES2E X 364,000 364,000 0
OO0t E= TIoHMEAS 364,000
= 280,000
= 84,000
ME== T2 XS 129,890 165,600 N 35,710
308 XAXIEHSOIA 129,890 165,600 N 35,710




SN BHEYHI
M AYSD MYHUS NABBTY
& otdsSAZESH 2 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 129,890 165,600 235,710
OO== IO XI& 129,890
OFM=S=2 TIoHY X X 142,060 38,550 103,510
308 XtXIEHHSOIA 142,060 38,550 103,510
01 AXHHILEES 142,060 38,550 103,510
O0tMES= mol&XE XA 142,060
OHis=XdyH 29 400,000 400,000 0
= 120,000
< 280,000
403 UHXSHHSA=0l& 400,000 400,000 0
= 120,000
< 280,000
02 S| 2 S 0il CH &HCH & A I 400,000 400,000 0
OOtMs=E X 2eldEH=29Y 400,000
= 120,000
< 280,000
OHsAE E5ES 3,400 3,400 0
201 -2l 1,400 1,400 0
01 At 22l 1,400 1,400 0
Oz &l 1,400
-l ESAE BE58S 1,400
202 O4dl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OMESAEESEE MYl 2,000
MATI2 28012 XI& 44,000 0 44,000
= 30,000
< 14,000
308 XXM SOIA 44,000 0 44,000
= 30,000
< 14,000
01 AXHHILEES 44,000 0 44,000
OMAIXI2 B&I2 X2 A 44,000
= 30,000
< 14,000
MRESINEE L X720 6,318,317 5,317,440 1,000,877
= 4,942,751
< 1,375,566
CHOI S Z NS O 2 = &l 5,645,800 5,185,600 460,200
= 4,378,000
< 1,267,800
ESS=MBZIXNAAEHI A 100,000 100,000 0
307 21201 A 100,000 100,000 0




SN BHEYHI
M HREZBIN=E L X720y
S HIg3NdHBF (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 YAFLAANFEE 100,000 100,000 0
OSS=MZIN2HdH2E(UHS) 100,000
HANAANUHAHZSHI X 13,000 13,000 0
= 10,000
< 3,000
308 XtXIEHHSOIA 13,000 13,000 0
= 10,000
< 3,000
01 HXNHHBHEELS 13,000 13,000 0
O&SHIIAAMNUHA HEH XA 13,000
= 10,000
< 3,000
HAINMAIE ALK& 439,400 533,000 93,600
= 338,000
< 101,400
403 Ut SHHSA=0l& 439,400 533,000 93,600
= 338,000
= 101,400
01 HXSHMA=E X 439,400 533,000 A 93,600
OFAHIAHA ESAY 316,550
= 243,500
< 73,050
O&HINA AL ESAY 122,850
= 94,500
= 28,350
28  QLENMNBEXNSELEAZS 1,400 1,400 0
201 £B-2d | 1,400 1,400 0
01 AL 2l 1,400 1,400 0
SR 1,400
~BARYAND SHAHA 2Y
7,000 «2H x50 700
-2 dEgy 29 7,000 3 «2H +50 700
AN JAEE 24835 J|g2 st 99,000 89,000 10,000
= 99,000
308 XX EHH SOl A 99,000 89,000 10,000
= 99,000
01 AXNSHHEBANEES 99,000 89,000 10,000
OAlZ O AEE 2435 J|Brd3t 99,000
= 99,000
EEAEQOEN 22 150,000 140,000 10,000
= 150,000
308 XXl ©H A S 0 & 150,000 140,000 10,000
= 150,000




SN BHEYHI
M HREZBIN=E L X720y
S HIg3NdHBF (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 150,000 140,000 10,000
OEAZOEN 29 150,000
= 150,000
401 MsAHUH XA 352,800 529,200 176,400
= 294,000
= 58,800
403 A X EHHS =0l A 352,800 529,200 A 176,400
2 294,000
< 58,800
01 X SHHX2E = 352,800 529,200 A 176,400
S0 MsAHU XA 352,800
= 294,000
< 58,800
JelAEE HERZA #43tALY 102,000 102,000 0
2 51,000
= 51,000
307 glz2tol & 102,000 102,000 0
= 51,000
< 51,000
02 It MAHEE 102,000 102,000 0
O AEE UHEHZA EH3AZ 102,000
= 51,000
= 51,000
AT - HICH 10,000 10,000 0
308 XXIEHHSOIA 10,000 10,000 0
01 AXHHBILEES 10,000 10,000 0
O& W = XlCH= 10,000
C2SY0E NSEHNE ALY 3,931,200 2,901,600 1,029,600
= 3,024,000
< 907,200
308 MtXIEHSOIH 3,931,200 2,901,600 1,029,600
= 3,024,000
< 907,200
01 HXNHHNBHELS 3,931,200 2,901,600 1,029,600
OL==d0E NESEHXAAZ 3,931,200
= 3,024,000
< 907,200
SIS A ESAHY 75,000 30,000 45,000
= 75,000
403 RXISH S X =0l & 75,000 30,000 45,000
= 75,000
01 HXSHMA=E X 75,000 30,000 45,000
OIS ESALY 75,000
= 75,000




SN BAYYY
M HREZBIN=E L X720y
S HIg3NdHBF (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
HIIXNSA SEAE 2= MY 35,000 16,000 19,000
= 35,000
403 MtXSHHS =0l & 35,000 16,000 19,000
= 35,000
01 X SHMA2E X 35,000 16,000 19,000
O&IIXSI SHALE RS ALY 35,000
= 35,000
JIZHs s 3E 29 70,000 80,000 A 10,000
= 35,000
< 35,000
307 21201 A 70,000 80,000 A 10,000
= 35,000
< 35,000
02 LB AAFEX 70,000 80,000 210,000
OJI=dst s o223 70,000
= 35,000
= 35,000
SEIIZAE BASEHAY 267,000 500,000 233,000
= 267,000
403 A X EHHS 20l A 267,000 500,000 233,000
= 267,000
01 X EHHMA=2LE L 267,000 500,000 A 233,000
OEIZANE BLASHAY 267,000
= 267,000
HHEHdAXNEE A 2 st 672,517 131,840 540,677
= 564,751
< 107,766
==SAs=FI10 X234 K& 90,077 68,400 21,677
= 60,051
< 30,026
307 012+0I & 90,077 68,400 21,677
= 60,051
S 30,026
02 It M AHE X 90,077 68,400 21,677
O==sXs=FII £X2ZHX&A 90,077
= 60,051
= 30,026
HELA2II=XS 45,000 38,000 7,000
307 glz2+ol & 45,000 38,000 7,000
02 QIAHFAAHEX 45,000 38,000 7,000
Otisga JIsXs 45,000
HHELAXNECEHA 5,140 3,140 2,000
201 Let24d] 2,840 840 2,000
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SN BFFYD
M HREZBIN=E L X720y
@ EHANEEZ LS (Sl & &)
SN P SA(EN) - MBAY - BES 0] &k o4 il Hl D&
O+ Hot2elA MHEHX 28 HJAE &
X AH 500,000
= 500,000
Ao o 2 HIIS 2eldst 20,046,763 17,765,686 2,281,077
= 17,143,500
< 2,903,263
=g Hol=s2el 1,056,596 1,054,686 1,910
= 492,500
=) 564,096
SAZIE =HEH 76,246 72,636 3,610
307 gl2tol & 76,246 72,636 3,610
02 IZtE M AHE L 76,246 72,636 3,610
OsdSIFZI+AHEL(UE) 76,246
SEMHHE =H24 579,000 589,650 A 10,650
= 193,000
=) 386,000
308 XXM SOl A 579,000 589,650 A 10,650
= 193,000
=) 386,000
01 IXNSHHBENEES 579,000 589,650 A 10,650
OsZEHHE =H24 579,000
= 193,000
< 386,000
St&Ect EStAY 160,000 163,000 A 3,000
= 160,000
403 A X EHHS =0l A 160,000 163,000 A 3,000
= 160,000
01 AXSHHMA2E = 160,000 163,000 A 3,000
Odt&Eot= FstArY 160,000
= 160,000
SAPHE=HE EXNNS ALY 38,850 97,500 A 58,650
403 MHXSHHSA=0l& 38,850 97,500 A 58,650
01 X SHHMA=LE L 38,850 97,500 A 58,650
OsAeE==Hg XX ALY 38,850
HEHIIS HEEFNE EXNAEY 39,000 0 39,000
403 UtXISHH S A= 0l& 39,000 0 39,000
01 AXISHHA=2E = 39,000 0 39,000
OMEHIIZ HEEFHE EXAY 39,000
SE7Y ot&ot ALY 22,000 21,900 100
308 XXM SOIA 22,000 21,900 100
07 IXNSHH2AURE = 22,000 21,900 100
O=d=4 ofdot= At 22,000




2N S#IEHY
ME: qpHol B U HIIS HelLs
&S NS HIIS2e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
st=HII=8g3al A3l 2,000 2,000 0
201 24l 2,000 2,000 0
02 =224l 2,000 2,000 0
Ost=HII=S&a A3l 2,000
I=sHUE =sdotE 2SN 139,500 108,000 31,500
= 139,500
403 MtXISHHE X201 E 139,500 108,000 31,500
= 139,500
01 X SHHA2E = 139,500 108,000 31,500
Og=sHbld SSdotY &2FAMS 139,500
= 139,500
HIISHM2IAE &= 18,990, 167 16,711,000 2,279,167
= 16,651,000
< 2,339,167
F=3 29X HEE SEMY 820,167 1,335,000 A 514,833
= 665,000
< 155,167
403 A X EHHS =0l A 820,167 1,335,000 A 514,833
= 665,000
< 155,167
01 X EHHMA=LE L 820,167 1,335,000 A 514,833
OHEFA Z2IMY D MHEHE M 820,167
= 665,000
< 155,167
EFE ZAL2ZANE SEAY 9,780,000 8,203,000 1,577,000
= 8,873,000
< 907,000
403 UHXSHHSA=0l& 9,780,000 8,203,000 1,577,000
= 8,873,000
= 907,000
01 HXSHMA2EE 9,780,000 8,203,000 1,577,000
OFF=3A ZAAL2ANE SEAMY 9,780,000
= 8,873,000
< 907,000
SE HIMOHE X BHA 519,000 55,000 464,000
= 519,000
403 MtXISHHE X201 & 519,000 55,000 464,000
= 519,000
01 AXSHMA=2EE 519,000 55,000 464,000
OZEHI?IMHE X ZHlAY 519,000
= 519,000
A ZAMY D A2EAIE AX ALY 4,774,000 2,046,000 2,728,000
= 4,340,000
< 434,000




2AN: I
o T Ho L HIIE BelYs
e HIISXHAIE &= (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 ™ 4,774,000 2,046,000 2,728,000
= 4,340,000
& 434,000
01 XIS A=Z2E X 4,774,000 2,046,000 2,728,000
QA ZAMY D] A2AE AXALS 4,774,000
= 4,340,000
o= 434,000
HMEMHIIMNEE SEAY 185,000 0 185,000
= 150,000
o=} 35,000
403 XX SRS K 20| & 185,000 0 185,000
= 150,000
= 35,000
01 AXESHHI=E2E X 185,000 0 185,000
OMEMYIINEHE SZLAA 185,000
= 150,000
& 35,000
YAMYIINE E SEAY 1,462,000 0 1,462,000
= 1,204,000
= 258,000
403 XX SHHS K20 & 1,462,000 0 1,462,000
= 1,204,000
= 258,000
01 XS A2 X 1,462,000 0 1,462,000
OUAMMYDIMNEE SEAY 1,462,000
= 1,204,000
= 258,000
SHAMYIIMMEHR SEAMNY 1,110,000 0 1,110,000
= 900,000
= 210,000
403 XX SHHS K20 & 1,110,000 0 1,110,000
= 900,000
= 210,000
01 XIS A2E X 1,110,000 0 1,110,000
OHAMYIINEE SEAS 1,110,000
= 900,000
== 210,000
=F SASXESAY N2 A 340,000 0 340,000
403 XX S M S X201 & 340,000 0 340,000
01 XS A2E X 340,000 0 340,000
= SASHESANY JAT2 &X 340,000
HHMSHAY (I M) 77,756 77,028 728
JlE&ddl 77,756 77,028 728
Jl2&Hl 77,756 77,028 728
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